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AUTO ELECTRIC EQUIPMENTS

fruffa v - fwR) (FAftreaH 3 : 70
Time allowed : Three Hours]| [Maximum Marks : 70

P () FYAFE AT E, sy 7 8 frgl 9R & IR o |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) NP T g4l 7Ty %) AR UF G1e 8T Hiford |
Solve all parts of a question consecutively to gether.
(iii) yRI% Je F 79 98 & TR i |
Start each question on fresh page.
(iv) ﬁwﬁﬁmﬁ#@ﬁﬁa@ﬁwﬁm? /

Only English version is valid in case of difference in both the languages.

. (D) $ft oraIeTEe T BT & ST (ST % IHEN)
(a) 40 Sferer Tiueh 1 aaTE 3R 60 Sawd at
(b) 60 STFISTd e T ST AT 40 Ficwrd qr=!
(©) 35 e i o 3t 65 iawra art
(d) 65 st sty 3w i 35 o T

Battery electrolyte consists of approximately (by volume) :
(a) 40 percent suphuric acid and 60 percent water

(b) 60 percent suphuric acid and 40 percent water

(c) 35 percent nitric acid and 65 percent water

(d) 65 percent nitric acid and 35 percent water

) e s & Y g i WA

(@ H,S0, (b)y Pb
(¢) PbO, (d) PbSO,
Positive plate of lead-acid battery contains :
(a) H,SO, (b) Pb
() PbO, d) PbSO,

(10f8) P.T.O.
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e doire dedl it e e TR 8 -
(a) H,SO, (b) Pb
(c) PbO, (d) PbSO,
Negative plate of lead-acid battery contains :
(a) H,SO, (b) Pb
(c) PbO, (d) PbSO,
At Y e Puifa St 2 i i wren wfa & 3

(a) I i 3MHfa (b) w2l H AHR Y

(c) TAIH TTH (d) gusHE! 6t T |
Capacity of battery is determined by no. of plates per cell and
(a) shape of the plates (b) size of plates

(¢) no.ofcells (d) no. of separators.
& wehr 6t 92 2

(a) Tt Iz b (b) Trwer Fefiem S
() (a) 3 (b) QF (d) T E ST
Alkaline type battery is

(a) Nickel-Iron battery (b) Nickel-Cadmium battery
(c) Both (a)and (b) (d) None of these

a2t AU & Fed W, JeagIaTse & fAfE e

(a) e | (b) =M |

(c) IHTATM | (d) wHARET
With the increase of battery temperature, the specific gravity of electrolyte :
(a) increases (b) decreases

(¢c) stays the same (d) none of these
e | T8 BT 8 —

(a) VA (b) TX

(c) FEA (d) feemfon

Alternator does not contain

(a) Stator (b) Rotor

(c) Commutator (d) Slipring
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(a) U H
(c) Wa#

(3 of 8)
C(8)  HEEHE H Iraehlg & 3¢0F BidT &

(b)
(d)

1081

wa
feqg for d

Magnetic field is produced in the alternator :

(a) inrotor
(¢) inframe

(9) T 1 H &1 Bl 2
(a) aAdl Al &l
(c) U H
An alternator frame is made of :
(a) castiron
(¢) aluminium

(10)
(a) wm fams
(c) e I A

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d

in stator
in slip ring

fael &l
GIEEQ

brass
copper

ITeetien % 3ared (Brin) =1 frer § & farass gro Frafa fensman 2 2

dieed s
3 F H1S TG

The output of an alternator is controlled by

(a) Current regulator
(¢) Cut out relay

Ffemifea wifén ured 2t 2
(a) #HiS g A
(c) I1C T i

(1)

Automotive starting motors are
(a) series type
(¢) shunt type

(12) e Seo= &l 2, =i
(a) TR |
(c) waor fem ‘o dand |
Sparking occurs when

(a) Points open
(c) Ignition switch is “ON’

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d

Voltage regulator
None of these

it vic gHT
(a) 3 (b) T

series-shunt type
both (a) and (b)

uige fred € |
T G HIS A&

Points close

None of these

P.T.O.
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(13) =9 &1 A2 Yoo 3 43 &1 Saga AG & ¢

(14)

(15)

(16)

(17)

(a) woeh —foredies (b) weh

(c) S HUge! (d) FHH
Which is not a part of the magneto ignition system ?
(a) Circuit breaker (b) Battery

(c) Ignition coil (d) Condenser
ST TR 6 T TTHIG: TE0T Al @

(a) W If argal § (b) HWH

(c) i uftasa arEAi § d) IFFEaAT

Normally inertia type drives used in :
(a) Heavy passenger vehicles (b) Cars
(¢) Heavy transport vehicles (d) All of the above

HYHZT IV AT H ST 0 G B R —

(a) sATAF (b) 9 A9HE F

(c) TEddAHgE b (d) STATEROT ATYHH &
Ignition advance in centrifugal advance mechanism is proportional to
(a) Engine speed (b) Engine temperature

(c) Pressure of lubricant oil (d) Atmospheric temperature
St AL Soaei JuTTelt # Ysae $ee! f At 2

() @ fa=aes gr (b) SRS IM

(c) TTEHGH (d) foaws gm

Ignition coil triggers in electronic magneto ignition system

(a) by contact breaker (b) by diode

(c) by timer (d) by distributor

T TS TENT L &

(a) e fepmw & fau (b) diees fama & fom

(c) IRk eHl & farw (d) THIAPETE

*Zener diode’ is used for

(a) Current Rectification (b) Voltage Regulation

(c) Both of the above (d) None of these
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(18) SaeH HSE i FTafih e # 8id 8

(19)

(a) Wi AR & FBh YA (b) Wi dR % §gd & YA
(c) T AR S FBH gAE (d) T AR F 9ga 4 g
Primary winding of ignition coil consists of

(a) A few turns of thin wire (b) many turns of thin wire
(c) A few turns of thick wire (d) many turns of thick wire

s e 3 ggetet & fore g war @ ferg S 2
(a) SR (b) U=EIE

(c) Togfm (d) dfar

The commonly used material for insulator of spark plug is
(a) Bakelite (b) Asbestos

(¢) Alumina (d) Copper

(20) ﬁmwmﬁmﬁ?ﬁmﬁ%

(a) =T =1 g qEA 1 Hehd o % fAY
(b) T % sidh T o feTT

(c) area s wfa wefifa w0 < fore
(d) ITH U A HIE TE

Direction indicator lights are used for

(a) Indicating left or right turn (b) Braking the vehicle
(c) Showing vehicle speed (d) None of the above

Q1) ﬁaﬁﬁwmaﬁmﬁ%msﬂﬁﬁﬁsﬁiw@%ﬁaﬁ@ﬁw

(22)

SRR
(a) 3.6m (b) 7.6m
(c) 103m (d 9.5m

During focusing and alignment of head lamp, distance between head lamps and
curtain should be approximately :

(a) 3.6m (b)y 7.6m

(c) 103m (d 95m
stoaTee 9w & ST Ar e A g R

(a) T (b) AfaREcH
(c) WEERIH (d) I @t
Reflector used in automobile head lamp is

(a) Spherical (b) Hyperbolic

(c) Parabolic (d) All of the above

P.T.O.
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(24)

(25)

(26)

(6 of 8)
FRH T A3CE’ BT EAT R
(a) H%e (b) wTE
() = (@ e
The colour of tail lights in a car is
(a) White (b) Red
(¢) Green (d) Yellow
foeft ifaeeet a1 farga R 3 3 fere, & wrmard %m | <f w8
(a) TId TR (b) TraE

(c) FEaIanifesifige (d) TIFHRSE

The two quantities used for specifying an electrical wire are :
(a) the colour and length

(b) the length and diameter

(c) the diameter and number of strands

(d) the colour and diameter

weh 3fid wrelt o g et i 3 A feperes iR T ST 7

(a) fewmdm (b) T W

(c) gHism (d) T EHIE T
In a head lamp the metal shield is placed below the

(a) dipper beam (b) main beam
(c) both the beams (d) none of these
HI Eet F uferiz o1 7 fomam sman 2

(a) euer s md urt g (b) Strgm

(c) IFTHA G (d) WIEZM

Car heater element is heated by

(a) hot water of radiator (b) Dbattery

(c) alternator (d) starter

(27) wfayfe &m o «f st 2

(a) et ure frvr @ | (b) weuw v ad
(c) 3w el (d) I90H H & HE T8
Feed back used in

(a) open loop control system (b) close loop control system
(c) both of the above (d) none of the above

1081
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/(28) AT Y= fore frgra W T B 7

(a) aEifs sefa g ® (b))  wdfa Fuscl g W
(c) I9UH aHl | (d) SHHH A HE TE

On which principle temperature indicator works ?

(a) Thermostatic heating principle

(b) Balanced coil principle

(¢c) both of the above

(d) none of the above

(29) Yad % IGE &

(a) Taeaarx (b) =B fen fafeve
(c) UEIH (d) s

Examples of actuator are

(a) Electric motor (b) Hydraulic piston cylinder
(c) Screw Jack (d) All of the above

(30) Il % U Hobel 1 FHAl % AR e | FGer aTedt IfE 8

2. (@)

(ii)

(a) TEBH (b) TEIE
(c) b (@) FHAFETH

A device that converts one form of energy signal into another form of energy signal
18

(a) Transformer (b) Transducer

(c) Battery (d) None of these (1x30)

i st S A gmi F AT HR R 7

What is the role of separator in lead-acid battery ?

Hehe AT arelt & Hral i fafEn |

Write down the functions of hazard warning light.

(iii) =g &9 & &l ® G |

(iv)

)

Write down the functions of combination switch.

feefioget & w/l | faRaT |
Write down the functions of distributor.

g % Fri i fafe |

Write down the functions of horn. (2x5)
P.T.O.
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3.

Figet Tsae uITel! 1 Fiea gui hife |
Describe coil ignition system with sketch. (10)

ot @ ) fafir fRafyat @ 39 ahem & faftrt =t awsme |

Explain the different reasons of battery failure and ways of their rectification. (10)

wITEn Wiet & ufuy a7 ST o1 | 9 Hifg |

Describe with sketch the starter motor circuit and its working. (10)

Tk 3753 TS i 6l ETEhATd, I 21 aTet 2t et I o feram & = Hife |

Explain in detail the requirements of good spark plug, defects occurring in spark plug
and their remedies. (10)

Hafera Foeehl yehr o o= ATt i FHrRiTOTTEd! i Hie T |

Describe with the help of a neat sketch the working of the balancing coil type of fuel
gauge. (10)

Recirse GO a1 HEA i fordn @ afed aaese |
Explain with a neat sketch head light focusing and alignment. (10)

e qu wftrg feoaoft Hifrg -
Write short notes on following :

(i) 3.H.wm. gEaEH

E.C.M. and Sensors
(i) N o9 9 s o o e |

Open loop and close loop control system. (5+5)




